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B AMAikel F5H AR A| HA F A9 HA FAY Z 71y Zrao) @AY 7Y HF AL
(AA=HHA) | (A A=H71A)
> AE(AA) 214,267 0 9,706 204,561
B AE(FY [AFEHUAXNE AHAEZA AdEH 42 t)A] 397.00m
Ho) WAEEH | AF Pl = A A | 61,267 0 5,706 55,561 |7t =
+A+7H) AL 93.05m
AZEHAXE A A 3% =8o|3}24 olztE HAE
w25} ol = lTﬁaZH | FA] =3 F =3 o]324} ofzt =5 153, 000 0 4,000 149, 000| o =
101.40m
> HF Ao AF FAo] EEEHE Al A A DA INA-AY D &F I (&A) 1,414 4,167 200 5,381
Hol == 2} 2008 2] SM5 Y| 7] 2K(1, 998cc) 14 0 0 14
o2 <} A=z [2008WA] SM5 B 7] ZH(1, 998cc) 1,400 0 200 1,200| 7tA Rl 5
4,167
Hl} - A} A& At 20144 ¢ 11 vl 7] %H(2,497cc) 57} 4. 210) 0 4,167 | Al 5+ A1 2L ()
» o F(&2A) 906, 786 418,200 193,494 1,131,492
(F)KBLs| R 10,791(912 £71), KBE A 296, MG
sl B (F) 36,954(1,965 =7}, BRI
82,172(4,487 %7}, =913 14,598(300 57h), &3
Eal 2 7,950(600 37, FE2H 50, FHF LI
261,002(9,135 37h), HA15A 8, FFAHYRY
=< 808, 648 221,746 187,694 842,700
11,440(687 Z7}), Edl<s]23 15,003(1,762 =7}),
o459 AT 7
AR =3 010,163(9,906 7)), AT AZL3YE 3| 34,
MubEFLE 43 386,734(3,254 71, A&FEE2Y
93 11304 F7h), A2 5,266(1,040 F7}), Al
FAsA 15, AlF2 111
Z)KEBSIUF-23) 28(131 7H4), R EAH B 36,000,
Bl & =} (F)KEBShZ 3 28(131 F) weees 91,528 196,312 5,228 282,612
=91-288 9,759(5,362 57b), #d5 43 18(5 ), df
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=29 1,139(139 F7b), Algk23¥ 1,2923 571, F
A Z| AL Fhot e 3 4(261 FH &)

2,554
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118,769

10,184

48,806

LGoUA & FA 1
=B A 20F, 54
70022(300% = 7)), ZS_%ILI 4,000?, =R T 0F

(1505 =)

101,758

8,378

31,795

HLRHE 0F(30F #4), LGH AZ o] 0F(100F z.}i),
LGHAZHo|REZF 0F5(500F Z4), LGoAlYA &7

0F(1F Zta), ol A 0F(300F &), ofoloA% 1
2T 50‘[‘(50‘;[(‘ =71, oA EE 02(100% ZH4),
L2 dEFF 0F(300F 3Ha), ko= 0F(50F 4
), &Y~ O-r(300x 7+ &), olqlo] ZE|AZ 24| 0
(40F &), FHE201Y 0F(100F ), AEZ 2

=
0F(40F Zt4), Zulg 0F(220F FF4)
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16,000, A2 AHF2YPF Y3 02,185 T 4)
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